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¡Hola!



The 
beginning



How to identify the big 
polluters?



The data

https://ec.europa.eu/clima/polici
es/ets/registry_en#tab-0-1







Parent company / Major group 
of each installation



The process
1. Identify which installations 

made the 70%.

2. Complete the data with the 
second datasets. 

3. Using the ID of the 
company to find the 
information we need: the 
parent company.







Problem: one of the datasets 
was old...



The analysis
1. Combining all the 

countries.

2. Pivot tables and... 

3. Looking for those at the 
top of the list. 



How to communicate 
the story?



The 15 
companies

1. UK focus

2. Problem…

… the EU Emission 
Trade System accounts 
for a fraction of the 
overall CO2 emission

… not easy to 
understand



Solution: 

Second calculation 

How much does the ETS 
account in the overall UK 
emissions?

What is the proportion of our 
15 companies?

The carbon 
budget



Follow up stories?



Follow up stories?
Thanks!
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